



# The infinite sum of reciprocal Pell numbers <sup>☆</sup>

Zhang Wenpeng <sup>\*</sup>, Wang Tingting

Department of Mathematics, Northwest University, Xi'an, Shaanxi, PR China

## ARTICLE INFO

### Keywords:

Pell numbers  
Floor function  
Identity

## ABSTRACT

In this paper, we consider infinite sums derived from the reciprocals of the Pell numbers. Then applying the floor function to the reciprocals of these sums, we obtain a new and interesting identity involving the Pell numbers.

© 2011 Elsevier Inc. All rights reserved.

## 1. Introduction

For any integer  $n \geq 0$ , the famous Pell numbers  $P_n$  are defined by the second-order linear recurrence sequence  $P_{n+2} = 2P_{n+1} + P_n$ , where  $P_0 = 0$  and  $P_1 = 1$ . From the characteristic equations  $x^2 - 2x - 1 = 0$  we also have the computational formula

$$P_n = \frac{1}{2\sqrt{2}} \left[ (1 + \sqrt{2})^n - (1 - \sqrt{2})^n \right].$$

About the properties of this sequence, some authors had studied it, and obtained many interesting results, see [1–6]. For example, Santos and Sils [3] had studied the arithmetic properties of the  $q$ -Pell sequence, and obtained two identities. Kilic [4] had studied the generalized order- $k$  Fibonacci–Pell sequences, and given several congruences.

On the other hand, Ohtsuka and Nakamura [7] studied the properties of the Fibonacci numbers, and proved the following conclusions:

$$\left[ \left( \sum_{k=n}^{\infty} \frac{1}{F_k} \right)^{-1} \right] = \begin{cases} F_{n-2}, & \text{if } n \text{ is even and } n \geq 2; \\ F_{n-2} - 1, & \text{if } n \text{ is odd and } n \geq 1. \end{cases}$$

$$\left[ \left( \sum_{k=n}^{\infty} \frac{1}{F_k^2} \right)^{-1} \right] = \begin{cases} F_{n-1}F_n - 1, & \text{if } n \text{ is even and } n \geq 2; \\ F_{n-1}F_n, & \text{if } n \text{ is odd and } n \geq 1. \end{cases}$$

These two identities are interesting, at least they showed us some new properties of the Fibonacci numbers. It is naturally that one can ask whether there exist some corresponding formulae for the other second-order linear recurrence sequences, such as the Pell sequence? Unfortunately, we have not found any related results in [7]. The main purpose of this paper is using a new method to give a similar identity for the Pell numbers. That is, we shall prove the following conclusion:

<sup>☆</sup> This work is supported by the N.S.F. (11071194) of PR China.

<sup>\*</sup> Corresponding author.

E-mail address: [wpzhang@nwu.edu.cn](mailto:wpzhang@nwu.edu.cn) (Z. Wenpeng).

**Theorem 1.** For any positive integer  $n$ , we have the identity

$$\left| \left( \sum_{k=n}^{\infty} \frac{1}{P_k} \right)^{-1} \right| = \begin{cases} P_{n-1} + P_{n-2}, & \text{if } n \text{ is even and } n \geq 2; \\ P_{n-1} + P_{n-2} - 1, & \text{if } n \text{ is odd and } n \geq 1, \end{cases}$$

where providing  $P_{-1} = P_1 = 1$ .

For any integer  $m \geq 2$ , whether there exists a computational formula for

$$\left| \left( \sum_{k=n}^{\infty} \frac{1}{P_k^m} \right)^{-1} \right|$$

is an open problem, suggest interested readers study it with us.

**2. Proof of the theorem**

In this section, we shall prove our theorem directly. First we consider the case that  $n = 2m$  is an even number. At this time, our theorem become into

$$\left| \left( \sum_{k=2m}^{\infty} \frac{1}{P_k} \right)^{-1} \right| = P_{2m-1} + P_{2m-2}.$$

It is equivalent to

$$P_{2m-1} + P_{2m-2} \leq \left( \sum_{k=2m}^{\infty} \frac{1}{P_k} \right)^{-1} < P_{2m-1} + P_{2m-2} + 1,$$

or

$$\frac{1}{P_{2m-1} + P_{2m-2} + 1} < \sum_{k=2m}^{\infty} \frac{1}{P_k} \leq \frac{1}{P_{2m-1} + P_{2m-2}}. \tag{1}$$

Clearly,  $P_1 + P_0 = 1$  and

$$\frac{1}{2} < \sum_{k=2}^{\infty} \frac{1}{P_k} = \frac{1}{2} + \frac{1}{5} + \dots < \frac{1}{2} + \frac{1}{5} + \frac{1}{2 \times 5} + \frac{1}{2^2 \times 5} + \frac{1}{2^3 \times 5} + \dots = \frac{1}{2} + \frac{2}{5} < 1,$$

so our theorem is true for  $m = 1$ . Now without loss of generality we can assume  $m \geq 2$ . We prove that for any integer  $k \geq 2$ ,

$$\frac{1}{P_{2k}} + \frac{1}{P_{2k+1}} < \frac{1}{P_{2k-1} + P_{2k-2}} - \frac{1}{P_{2k+1} + P_{2k}}. \tag{2}$$

This inequality equivalent to

$$\frac{P_{2k+2}}{P_{2k+1}(P_{2k+1} + P_{2k})} < \frac{P_{2k-1}}{P_{2k}(P_{2k-1} + P_{2k-2})},$$

or

$$P_{6k+1} + P_{2k+3} + P_{6k} - P_{2k+4} - 6P_{2k-1} - 6P_{2k-2} < P_{6k+1} + P_{2k-1} + P_{6k} - P_{2k} + 6P_{2k+1} + 6P_{2k},$$

or

$$P_{2k+3} < P_{2k+4} + 5P_{2k} + 7P_{2k-1} + 6(P_{2k+1} + P_{2k-2}). \tag{3}$$

It is clear that inequality (3) is correct. So inequality (2) is true.

Now applying (2) repeatedly we have

$$\sum_{k=2m}^{\infty} \frac{1}{P_k} = \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k}} + \frac{1}{P_{2k+1}} \right) < \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k-1} + P_{2k-2}} - \frac{1}{P_{2k+1} + P_{2k}} \right) = \frac{1}{P_{2m-1} + P_{2m-2}}. \tag{4}$$

On the other hand, we prove the inequality

$$\frac{1}{P_{2k}} + \frac{1}{P_{2k+1}} > \frac{1}{P_{2k-1} + P_{2k-2} + 1} - \frac{1}{P_{2k+1} + P_{2k} + 1}. \tag{5}$$

This inequality equivalent to

$$\begin{aligned} & P_{2k+2}P_{2k}(P_{2k-1} + P_{2k-2}) + P_{2k}(P_{2k-1} + P_{2k-2}) + P_{2k+2}P_{2k} + P_{2k} \\ & > P_{2k+1}P_{2k-1}(P_{2k+1} + P_{2k}) + P_{2k+1}P_{2k-1} - P_{2k+1}(P_{2k+1} + P_{2k}) - P_{2k+1}. \end{aligned} \quad (6)$$

From the process of proving (3) we know that inequality (6) equivalent to

$$\begin{aligned} & P_{2k}(P_{2k-1} + P_{2k-2}) + P_{2k+2}P_{2k} + P_{2k} + P_{2k+1}(P_{2k+1} + P_{2k}) + P_{2k+1} \\ & > P_{2k+4} - P_{2k+3} + 5P_{2k} + 7P_{2k-1} + 6(P_{2k+1} + P_{2k-2}) + P_{2k+1}P_{2k-1}. \end{aligned} \quad (7)$$

It is easy to check that inequality (7) holds for all integers  $k \geq 2$ . So inequality (5) is correct.

Applying (5) repeatedly we have

$$\sum_{k=2m}^{\infty} \frac{1}{P_k} = \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k}} + \frac{1}{P_{2k+1}} \right) > \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k-1} + P_{2k-2} + 1} - \frac{1}{P_{2k+1} + P_{2k} + 1} \right) = \frac{1}{P_{2m-1} + P_{2m-2} + 1}. \quad (8)$$

Now the inequality (1) follows from (4) and (8).

Similarly, we can consider the case that  $n = 2m + 1$  is an odd number. Note that  $P_0 + P_{-1} - 1 = 0 + 1 - 1 = 0$  and

$$\sum_{k=1}^{\infty} \frac{1}{P_k} = 1 + \frac{1}{2} + \frac{1}{5} + \frac{1}{12} + \dots > 1.$$

So our theorem is true if  $m = 0$ .

If  $n = 2m + 1$  with  $m \geq 1$ , then our theorem equivalent to the inequality

$$P_{2m} + P_{2m-1} - 1 \leq \left( \sum_{k=2m+1}^{\infty} \frac{1}{P_k} \right)^{-1} < P_{2m} + P_{2m-1},$$

or

$$\frac{1}{P_{2m} + P_{2m-1}} < \sum_{k=2m+1}^{\infty} \frac{1}{P_k} \leq \frac{1}{P_{2m} + P_{2m-1} - 1}. \quad (9)$$

First we can prove that the inequality

$$\frac{1}{P_{2k+1}} + \frac{1}{P_{2k+2}} > \frac{1}{P_{2k} + P_{2k-1}} - \frac{1}{P_{2k+2} + P_{2k+1}}, \quad (10)$$

holds for all integers  $k \geq m$ .

The inequality (10) equivalent to

$$\frac{P_{2k+3}}{P_{2k+2}(P_{2k+2} + P_{2k+1})} > \frac{P_{2k}}{P_{2k+1}(P_{2k} + P_{2k-1})},$$

or

$$P_{2k+4} < 5P_{2k+1} + 6P_{2k+2} + 7P_{2k} + P_{2k+5} + 6P_{2k-1}. \quad (11)$$

It is clear that the inequality (11) is true for all integers  $k \geq 1$ . So (10) is correct.

Applying (10) repeatedly we have

$$\sum_{k=2m+1}^{\infty} \frac{1}{P_k} = \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k+1}} + \frac{1}{P_{2k+2}} \right) > \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k} + P_{2k-1}} - \frac{1}{P_{2k+2} + P_{2k+1}} \right) = \frac{1}{P_{2m} + P_{2m-1}}. \quad (12)$$

On the other hand, we can also prove the inequality

$$\frac{1}{P_{2k+1}} + \frac{1}{P_{2k+2}} < \frac{1}{P_{2k} + P_{2k-1} - 1} - \frac{1}{P_{2k+2} + P_{2k+1} - 1}. \quad (13)$$

This inequality equivalent to

$$\frac{P_{2k+3} - 1}{P_{2k+2}(P_{2k+2} + P_{2k+1} - 1)} < \frac{P_{2k} + 1}{P_{2k+1}(P_{2k} + P_{2k-1} - 1)},$$

or

$$6(P_{2k+1} + P_{2k-1}) + 7(P_{2k+2} + P_{2k}) + P_{2k+2}P_{2k} < P_{2k+3}P_{2k+1} + P_{2k+1}(P_{2k} + P_{2k-1}) + P_{2k+2}(P_{2k+2} + P_{2k+1}) + P_{2k+4}. \quad (14)$$

It is clear that inequality (14) is correct. So inequality (12) is true.

Applying inequality (12) repeatedly we have

$$\sum_{k=2m+1}^{\infty} \frac{1}{P_k} = \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k+1}} + \frac{1}{P_{2k+2}} \right) < \sum_{k=m}^{\infty} \left( \frac{1}{P_{2k} + P_{2k-1} - 1} - \frac{1}{P_{2k+2} + P_{2k+1} - 1} \right) = \frac{1}{P_{2m} + P_{2m-1} - 1}. \quad (15)$$

Combining (12) and (15) we deduce the inequality (9).

This completes the proof of our theorem.

### Acknowledgment

The authors thank the referee for his very helpful and detailed comments, which have significantly improved the presentation of this paper.

### References

- [1] E. Kilic, B. Altunkaynak, D. Tasci, On the computing of the generalized order- $k$  Pell numbers in log time, *Applied Mathematics and Computation* 181 (2006) 511–515.
- [2] Pan Hao, Arithmetic properties of  $q$ -Fibonacci numbers and  $q$ -Pell numbers, *Discrete Mathematics* 306 (2006) 2118–2127.
- [3] Jos Plinio O. Santos, Andrew V. Sills,  $q$ -Pell sequences and two identities of V.A. Lebesgue, *Discrete Mathematics* 257 (2002) 125–142.
- [4] E. Kilic, The generalized order- $k$  Fibonacci – Pell sequences by matrix methods, *Journal of Computational and Applied Mathematics* 209 (2007) 133–145.
- [5] Eric S. Egge, Toufik Mansour, 132-avoiding two-stack sortable permutations, Fibonacci numbers, and Pell numbers, *Discrete Applied Mathematics* 143 (2004) 72–83.
- [6] T. Mansour, M. Shattuck, Restricted partitions and  $q$ -Pell numbers, *Central European Journal of Mathematics* 9 (2011) 346–355.
- [7] H. Ohtsuka, S. Nakamura, On the sum of reciprocal Fibonacci numbers, *The Fibonacci Quarterly* 46/47 (2008/2009) 153–159.